H X - A R AR

THM5F10A31BRAE

X% HEDSHHR IAHE [2AHE [SAHS [4AtE [FAHE [6AHE |[TALEQHE
2Z—TH 58 22 18 11 7 0 0 0
2E=_TH 65 32 23 1 6 1 2 0
B2E=TH 9 4 1 1 1 1 0 1
HIL—TH 429 242 65 48 59 14 1 0
¥IL=TH 865 245 265 173 142 37 3 0
¥IL=TH 229 64 77 46 32 7 2 1
BWLMTH 184 62 47 36 32 7 0 0
BILATH 663 324 167 101 46 18 4 3
£RI—TH 203 94 70 17 20 2 0 0
£RI=TH 419 198 107 52 42 18 2 0
SE—TH 132 42 27 21 29 9 2 2
SEZTH 73 34 18 10 7 3 1 0
SHE=TH 364 90 68 72 100 24 9 1
SEEMTH 250 42 29 54 81 41 2 1
SEERTH 18 3 7 3 4 0 1 0
SEATH 96 45 23 13 12 2 1 0
SEtTH 760 248 295 133 66 16 1 1
MEX:: 60 22 18 6 9 3 2 0
e 355 150 98 49 41 15 2 0
MESG] 195 46 41 30 55 20 3 0
A de 270 121 84 42 14 8 0 1
wEUE—TH 452 161 142 73 64 9 3 0
BLUE-TH 501 180 162 73 68 14 3 1
AUE=TH 303 98 87 48 52 13 5 0
ALESMmETH 1,000 603 264 88 29 10 3 3
BEUERTH 1,078 581 336 114 34 12 1 0
AmILUEARTH 556 199 196 92 52 16 0 1
KEFFa 402 145 104 57 61 31 4 0
XHEE—TH 586 212 190 97 69 17 0 1
KBEZTH 490 157 164 95 56 16 2 0
KHBE=ZTH 484 141 195 78 45 17 8 0
KBEMTH 441 129 166 73 52 15 5 1
KBERTH 334 113 115 49 46 8 1 2
KBEARTH 536 192 178 100 48 14 4 0
KEELTH 288 73 109 54 35 15 1 1
PN da 100 27 34 21 15 1 2 0
N2 142 21 22 31 44 18 5 1
tMREHRE—TH 345 104 116 70 39 14 2 0
tHMREHREZTH 256 77 84 43 39 12 1 0
tREHE=TH 270 98 73 46 45 7 1 0
tRE—TH 643 251 185 100 85 19 3 0
MREF-TE 367 133 920 67 49 20 7 1
tMRF=TE 651 201 159 138 118 31 3 1
tMREIE—TE 131 52 44 19 12 4 0 0
tMREIE=-TE 326 147 87 52 29 8 3 0
MmZE—TH 36 13 10 5 6 2 0 0
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X% HEDSHH IAHE [2AHE [SAHS [4AtE [FAMHE [6AHE |[TALEQHE
MZEZTH 44 19 11 8 3 3 0 0
MZE=TH 131 41 45 24 18 2 1 0
BT H 274 66 79 74 43 8 2 2
BMR—TH 339 172 109 38 17 1 2 0
BMR=-TH 644 168 144 122 151 50 8 1
BMR=TH 355 107 97 51 76 22 2 0
EtRMTH 84 31 10 18 19 5 1 0
EtMRAETH 361 104 72 70 77 37 1 0
HEAE—TH 476 154 102 86 94 37 2 1
HEFA_TH 24 9 9 2 2 2 0 0
HEFA=TH 53 16 20 10 4 3 0 0
HHAMTH 18 6 8 3 1 0 0 0
B —TH 153 59 53 21 15 4 0 1
HHEF-THE 187 64 63 26 28 4 1 1
HHEH=TH 249 71 94 44 29 11 0 0
HHETMTH 9 3 4 1 1 0 0 0
BHEGTRETH 9 5 2 2 0 0 0 0
BRHEERE—TH 10 7 2 1 0 0 0 0
BETA—TH 1,020 375 313 173 125 30 4 0
HESA=-TH 262 89 71 48 44 9 1 0
HEFA=TH 134 25 19 18 57 13 2 0
HESAMNTH 48 41 5 1 1 0 0 0
+H-—TH 258 116 73 41 24 4 0 0
FH-TH 564 261 112 75 88 25 2 1
+$H=TH 665 291 181 105 66 17 3 2
FHIETH 11 4 3 1 1 2 0 0
*HERATH 420 143 100 65 82 28 2 0
FHATH 252 108 53 41 39 9 1 1
EFA—TH 44 14 13 7 8 2 0 0
EFA=TH 366 151 115 62 28 10 0 0
EFA=TH 546 223 131 85 83 22 2 0
ERAMTH 424 190 104 70 41 15 4 0
EFARTH 223 94 60 34 29 5 1 0
EHARKATH 459 181 85 81 80 24 7 1
ERAKtTH 322 117 87 51 51 14 2 0
E¥%A/NTH 514 154 153 89 87 30 1 0
=X 26,367 9,917 7,462 4,250 3,509 1,037 157 35




